Algebra2TrigH Name:
Quadratic Applications
Round all valuesto the nearest hundredth and use your calculators as much as possible!

1. An overzealous golfer hits a flop shot withand wedge to get out dt of the corner of a sand tigpam initial
vertical velocity of 45 feet per second. Whathe maximum height ththat the golf ball will reach?

a. 45 feet h“’,‘)= ’”p'bl"' 451; +0
b. 13.19 feet t - 45 = | 40b3

c. 31.64 feet 271w

d. 95.36 feet h(l| 40v?) = 3. ,d

2. After the semester is over, you discover thatmhath department has changed textbooks (agathgso
bookstore won't buy back your nearly-new book. éad your friend Herman decide to get creative. Yoo
the roof of a twelve-story building and look ovketedge to the reflecting pool 160 feet below. doap your
book over the edge at the same instant that Heomacks his book straight down at 48 feet per secBgd
how many seconds does his book beat yours intavaiber?

0 = —lbt* +0t + D O =leot* 4ot +1ko
=20 s
t=30 s t=7

% 1.1l Seconds Faster

3. An athlete hits a tennis ball at an initialdigiof 8 feet with an initial vertical velocity 6 %
a. After how many seconds does the ball hit tloeigd?
h( = —lt> + b2t +¥ =0
Aer 4 semnds

b. What is the maximum height the ball will reach?

- —LZ =[4435 h(1.4315): 1500 et

-2

c. At what time(s) will the ball to reach a heigtt20 feet?
A0=-lpt* + b2t +%

+£=0.20 R 3,0, s



4. An elementary school is 150ft long and 75 feieew The principal has 240 ft of fencing and plensase all
of it to create 2 identical adjacent playgroundhard he areas are made with the long side of th@osas a
border and have a fence to separate them. Wh#tedmensions of the playground that maximizeaitea?
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5. A cross country Euro-train must pass throughralmwlic tunnel that is 18 feet high (at its highssnt) and
24 feet across at the base.

(0, lﬂ a. Write an equation that represents thgheaif the
" o) Y tunnel.
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(- _ b. Canra train that is 10 feet wide and 14 feéptds
through
the tunnel?

swlpshhuie X =G inslead 3£ (O
3’,'%1 (g'0)14'l?
= (& ?7; ..M-" \l(,S

c. What is the widest 14 ft high train that canspédsough the arch?
2 z _ 2
= 2 () +IE X" =3

X
g widest ~awiis 113l Leetwide



